[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

0
1.4

..............................

| LAY 1 ARAH LARAN RAAAN RAASYRALES LARAS RARLN ARRRNLRRR

RS R ifﬂﬁiﬂi

1072 107 1

Ratio

1.2

AN G

1

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbar

Effici —e— DQM_mkKFit_TTbarPU-ncp
ICIeNd __,__ DQM_mkFit_TTbarPU-newTr5

~ 0.1
20.09 . . . . .
n N N N N N
>0.08F------ R TR CRETEET Beeees SREEREEE RERE
> . . . .
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01

0
1.4

.........................................

.............................

[T T OO O O T T T T T

Ratio

12

- -

[y

TTT T T TT I TTTT

2
s

30
TP vert z (cm)

0

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
9.035
2y
c0.03
@
8.025
(0]
0.02
0.015
0.01
0.005

0 . . :
Lafebee i

Ratio

Lofebenid

Sim. PV z (cm)



	Contents
	Page 1


